BTl - AO—% ( FER26E4818 BRE)

e i BN BN | N
89,492 203,806 100,350 103,456
X 2 S i B (A BN | =)

F—HX KFH—TH 230 483 231 252
F—HX AFHZTH 245 456 227 229
F—HX XFH=TH 124 216 109 107
E—HX AFRIETH 164 299 141 158
FE—HX XFHATH 136 262 137 125
FE—HX A= H O BT 35 73 36 37
FE—HX SEHT 51 125 64 61
FE—HX ¥ N=Fiidi) 149 274 137 137
FE—HX = $RHET 182 380 184 196
FE—HX R ILHT 287 679 319 360
FE—ih X {tHET 25 54 25 29
FE—ih X % FHHET 98 238 109 129
FE—ih X T 83 187 93 94
FE—ih X A AR ET 6 10 4 6
FE—ih X FRHT 9 25 11 14
FE—X #ET 3 8 5 3
FE—ih X AR BT 193 323 150 173
FHRE ST 199 391 183 208
FHRE el 125 254 127 127
FHRE AR F{hET 4 10 5 5
FHRE A% ET 22 48 22 26
F—HRE AR HET 10 26 14 12
FHRE A ST 239 516 234 282
F—HRX 7 3, FRT 113 290 139 151




F—#X ST 66 134 64 70
FE—HX HFHT 8 10 3 7
F—X J\ VBT 184 338 161 177
FE—HX ZHT 58 104 55 49
E—HX TARHT 44 78 39 39
F—HX KPSET 35 84 39 45
FE—i# X ERpHET 452 922 455 467
F—HX HT 75 BT 126 263 123 140
E—HX R ERHET 23 52 24 28

FE—HXE 3,728 7,612 3,669 3,943

XA S i B (A) BEN) | &)

FEHX L) 187 407 218 189
FEMX A= T/NBRET 96 195 94 101
FEoHX AFEHT 77 185 90 95
FEoHX LBl 330 704 315 389
FEHX d=1i) 81 155 81 74
FE X &Ry 88 212 97 115
FE X L2 N ) 97 205 91 114
FE X A7 T A JRET 72 159 81 78
FE X AFTAREHHA 90 183 86 97
FE X T iR IR BT 532 1,132 543 589
FE X AFT—TH 126 283 130 153
FHRX AFHTH 40 86 44 42
FIWMR KFFAREBH 116 239 106 133
FHRX XFFER 66 140 66 74
FHRX XFFER 60 137 71 66
FHRX FAREARET 64 117 53 64
FIWMR H#RET—TH 80 199 92 107
FIMR HERET"TH 39 87 44 43




EHX HEBET=TH 122 271 120 151
X AT 129 294 135 159
FEMX ABERT 71 158 72 86
FEoMX AFITLERHE 78 182 87 95
EMX WTHT 19 44 23 21
FEo#X FHFH—TH 90 189 82 107
EMX FHEET=TH 44 79 37 42
FEo#X FEBET=TH 72 125 60 65
FEo#X F A AT 85 186 95 91
EHX FATEHT 86 170 85 85
FEMX FATGHET 181 300 138 162
FEMX F AT 72 179 79 100

B E 3,290 7,002 3,315 3,687

XA S T B (A) BHEN) | &)

FE=HR B A EFAIEHT 202 468 226 242
FE=HR BEAES HH 1 4 2 2
FEoMR TERER 184 409 198 211
FEoMR TEREHR 232 493 257 236
FEoMR TEEXA 98 250 124 126
FEoMR B A EFRFTHET 139 331 168 163
FEoMR TEHEE4E 362 819 398 421
FEoMR TERIWEH 33 80 38 42
FEWR BAETI 172 413 204 209
BEEMX BAEMESF 236 564 268 296
FEWR FEAE 101 323 155 168
FEWR TERA/E 418 1,066 511 555
FEWR TEEWA 86 194 91 103
BEEMX TER®EE 93 136 49 87
FEHX TERES 167 403 208 195




FE=HX TERAIR 135 301 138 163
FE=HX TEREH 203 501 253 248
FE=HX TEREAX 176 416 203 213
FE=HX TERELET 176 345 162 183
FE=HX TEETETF 354 792 386 406
FE=HX EARXTER 5 16 8 8
FE=HX TEENR 60 130 61 69
FE=HX A E £ RHET 74 159 83 76
FE=HX TERER 397 940 460 480
FE=HX TERIZH 177 411 193 218
FE=HR TEEXRAR 278 663 304 359
FE=HR TEEHR 193 401 201 200
FE=HR TEHEEHAK 196 458 217 241
FE=HR TEERS 325 743 371 372
FE=HR TEEEH 133 266 137 129
FE=HR TERL/R 147 336 156 180
FEoMR T&HRKGH 13 30 16 14
EoHR A ERHET 104 255 120 135
FEoMR BAEERESR 36 68 35 33
EoHR BAEERA 12 35 16 19
FEoMR $ A B FRET 112 257 119 138
FEoMR B A ERHET 164 411 200 211
FEWR B AE— AT 140 358 177 181
FEWR TERER 189 420 201 219
FEWR TERtE 89 223 117 106
FEWR TERW/T 240 577 297 280
FEWR TERIA 270 573 297 276
FEWR TEES/O 182 436 211 225
B TEREHR 414 1,033 516 517




FE=HX TEEER 43 91 43 48
FE=HX TERE/N\E 442 1,059 526 533
FE=HX TEE/N\ER 5 9 5 4
FE=HX TEEER 432 1,024 485 539
FE=HX TEEAR 8 14 6 8

E=HXE 8,448 19,704 9,617 10,087

X 2 S i B (A BN | =)

Emih X ik L) 318 632 301 331
Fmx EEEXR 1 3 1 2
Emih X LERMXIE 19 41 22 19
it X LERERRA 4 9 4 5
i X LEERER 6 11 5 6
i X LtERERSR 1 3 2 1
FEmiX R HRET 53 128 61 67
FEmiX 7 ST 591 1,299 621 678
i X X EHET 229 529 257 272
i X = BT 512 1,133 570 563
i X ETHT 218 485 237 248
i X rh AR ET 390 815 406 409
i X rh [ ET 82 190 97 93
i X EER=Rit 206 533 276 257
S X £ & R AIBET 5 7 3 4
Fmix EEEZ )8 126 274 131 143
i X LERERET 191 417 199 218
i X LEREFI# 11 22 13 9
i X LEREEH 107 232 110 122
X tER—/RA 3 8 4 4
i X +tER=/R 7 12 7 5
S X EEREA+AR 21 56 27 29




SEPm X LEERO 4 4 0 4
Fmix EEREFHIL 4 5 2 3
FEmihX 1L+ T BT 15 34 19 15
Fmix tERNE 16 42 17 25
Fmx E&EH®IL 3 3 1 2
Emih X 2SR HET 694 1,615 748 867
Fmx FER=EH 33 71 31 40
Emih X P AN HT 321 732 347 385
Emih X £ &R A JBET 14 32 16 16
Emih X fE) ==y 470 1,065 508 557
i X = HHT 940 1,903 900 1,003

25 Pt X & 5,615 12,345 5,943 6,402

XA S T B (A) BHEN) | &)

FEHRMK SRHET 340 783 379 404
FEHRMK FE SR HT 402 895 417 478
FEHEX IEE 373 788 391 397
FHMK ZHAEHET 405 848 410 438
FERHX I ET 369 823 399 424
FERHX HISET 837 1,606 723 883
ERMR =R IEET 1 7 4 3
FHMK SEHT 526 972 508 464
FERHX = BHET 697 1,307 637 670
FHBX = iRET 916 1,793 883 910
FHBX = B AHET 368 741 378 363
R AFTHE 7 18 10 8
FHBK =HERHE 19 52 29 23
FHBK =BT /IR 73 191 95 96
FHBX =10k ) 329 730 356 374
FHBK =R/ HHET 72 168 79 89




FERHX ELRHET 181 361 183 178
FERHX WZERT 305 585 281 304
FERHX Z< T 507 1,113 587 526
FERMK =5HT 94 224 94 130
FERHX K LLIET 426 1,019 481 538
ERMXE 7,247 15,024 7,324 7,700

X 2 S i B (A BN | =)
KR KF 1,600 4,058 1,971 2,087
KX E 1,600 4,058 1,971 2,087

X 2 S i B (A BN | =)
FRiE#X iR 2,235 4,521 2,109 2,412
FRiE#X KEmsh 1,223 2,856 1,478 1,378
FRiE#X d5iR 329 844 425 419
FRiE#X INEREA 1,080 2,552 1,254 1,298
FRiE#X ] | ety = 34 64 31 33
FRiE#X EEM=TH 23 58 28 30
FiE#X ii] i 1,252 2,742 1,343 1,399
FiEX REM—TA 10 23 13 10
FiE#X REM=TH 86 211 99 112
FiE#X REM=TH 61 134 64 70
FiEX D 261 596 294 302
FiE#X nE 1,020 2,372 1,173 1,199
PR X & 7,614 16,973 8,311 8,662

HiX 4 BT 4 i EH(A) BHEA) | XN
& [ X BE 645 1,253 617 636
ERBRX $t R ET 271 587 301 286
X iLIRET 445 1,001 478 523
ERMBX 4 H BT 442 937 528 409
ERBX AL EHT 82 197 93 104




X Sy 539 1,115 560 555
X iRE 15 45 26 19
=X JREET 109 271 132 139
X fE—& 1,378 3,328 1,663 1,665
X it = SHET 458 952 482 470
X 7R E BT 629 1,468 738 730
X s 439 1,027 524 503
EMMEX =13 235 551 274 277
X = BYET 361 839 412 427
X T RAHET 533 1,125 546 579
SMMmX & HHHT 187 414 195 219
SMMmX HiRE 622 1,538 777 761
SMMmX RS 433 1,086 541 545
SMMmX (PN 1,492 3,458 1,751 1,707
SMMmX AdLEr—TAH 542 1,141 601 540
SMMmX BILET—TH 382 917 466 451
SRtX TeEET 286 611 314 297
g od i ] 23 REEE 555 1,226 641 585
SRtX RiRH 399 1,001 513 488
g od i ] 23 = BITET 208 490 239 251
S X R ET 300 743 373 370
SRtX W&o 129 295 154 141
X = 2,607 6,101 3,001 3,100
X k) 497 1,016 521 495
ERBRX EHr 316 784 379 405
X HIEET 645 1,426 723 703

SREHLXE 16,181 36,943 18,563 18,380

HiX 4 BT 4 w EH(A) BHEA) | XN

KX XE BHsE A 174 84 90




KH X K BRATHET 557 1,233 603 630
K i 3t X Kl BmsE 509 971 437 534
KX XE tFH 944 2,232 1,120 1,112
KH X PN 1,475 3,467 1,735 1,732
KX K FFE 134 348 169 179
KX K@ A/ 440 983 493 490
KX KB 134 331 170 161
KX XM THH 1,873 4,594 2,211 2,383
KX PN ITEA) 48 132 67 65
KX K AXHHET 170 361 173 188
KH X X =H 553 1,124 585 539
KF# R KR 57/ 74 163 83 80
K ] 3t X X BLXE/NM1Y 97 187 114 73
KF# R XE HFHH 1,341 3,029 1,526 1,503
K ] 3t X Xl =E&EHET 105 160 65 95
K ] 3t X X ELHE 84 193 92 101
K R 3t (X KM BT 281 615 293 322
KR 3 X KR m# 1,348 3,195 1,575 1,620
KHE# R Xl HERE 286 630 287 343
KHE# R XE BF 1,516 3,502 1,716 1,786
KRR KR Kk 233 424 185 239
KX &t 12,273 28,048 13,783 14,265
HiX 4 BT 4 i EH(A) BHEA) | XN
L 20::puc] =S L 298 723 339 384
L 20::puc] =S n& 233 583 283 300
L 20::puc] =S &F 1,429 3,064 1,576 1,488
L 20::puc] =S ¥ iR 403 942 457 485
L 20::puc] =S Bt 253 686 340 346
A 37N 217 504 256 248




FRHMX A 2,833 6,502 3,251 3,251

XA T4 i BN BN | &)
FEX 5 861 2,093 1,065 1,028
FEX R 619 1,609 797 812
ZEmX MR 1,342 3,322 1,667 1,655
TR R 957 2,428 1,227 1,201
TR AR 2,541 6,004 2,981 3,023
TR B4 ELER 16 16 16 0
ZEmX BA 177 308 175 133
TR iR 259 662 314 348
BRHMX & 6,772 16,442 8,242 8,200

XA S i B (A) BEN) | &)
i X i/ 108 297 153 144
i X NHER 232 498 218 280
i X NHESF 144 337 159 178
i X NERE 85 229 114 115
R X NA=# 270 702 326 376
R X & 839 2,063 970 1,093

#h X £ BT 4 HH B (A) BHEA) | )
Lirpr b1 FEHER 30 90 40 50
7 X Lich-pak- 79 227 106 121
Cichpiic] = Ll 60 205 85 120
P X EHAR 127 376 185 191
P X FEHAE 109 334 167 167
P X EHAN 26 86 41 45
Db 08 TR T 153 255 112 143
P X ih:: WA 2 50 147 67 80
Db 08 FERTER 38 130 60 70
Cichi-b el 45y 672 1,850 863 987




M1 X 4 e HE B (A BHEA) | &)
[ X HEH 181 454 226 228
R X R #H 518 1,234 639 595
[ 3 X Cige i) 568 1,409 729 680
IR X Xig 2,265 5,156 2,512 2,644
IR X R PaHy 839 2,113 1,022 1,091
IR X [R ZRET 1,702 4,027 1,983 2,044
IR X [RETH—TH 176 434 230 204
IR X [RETR—TH 220 510 263 247
IR X [RETR=TH 388 967 469 498
R X —AR 364 791 370 421
R X R —Fn 32 66 35 31
R X B2 494 1,174 608 566
R R FRETHT 634 1,642 799 843
R X &t 8,381 19,977 9,885 10,092

X £ BT 4 HE B (AN BN | XN
FERBR BEE 783 1,879 965 914
FRBK FH 560 1,457 697 760
FEMX iz 589 1,201 624 577
FERBR Al 609 1,535 780 755
B EMXE 2,541 6,072 3,066 3,006

#h X £ BT 4 i B (A) BHEA) | )
FHX FH 40 75 37 38
FHX FH AKX 168 401 211 190
FHX FH Lt5 91 211 99 112
FH##X FH XiH 76 174 85 89
FH#X FH Xt 50 138 71 67
FH#BX FH HfF 44 98 43 55
FHfX FH X485 228 473 233 240




FH#BK FE R 117 264 120 144
FHX FHE /MLUMA 75 151 81 70
FHX FH AOmME 44 93 40 53
FHX FH M 95 187 82 105
FH#fX FHA —f 97 217 109 108
FH#X FH %H 31 53 30 23
FH#X FH XM 81 190 103 87
FH#X FH #t 69 137 67 70
FH#X FH TF 61 154 78 76
FHMX FH #itl 28 61 29 32
FHX FH X 63 114 59 55

F HiX & 1,458 3,191 1,577 1,614

KEMDFAFATBURETNEAZEO-ERERSRAQIZHHELTVHEY,




